Transfers Report

This report contains the transfers results.

Contest Name	Ward 6 - Mid Berwickshire
Valid Votes	4,541
Positions to be Filled	3
Quota	1,136

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John GREENWELL	Scottish Conservative and Unionist	1,592
Donald MOFFAT	Scottish National Party (SNP)	962
Frances RENTON	Scottish Liberal Democrats	539
Mark ROWLEY	Scottish Conservative and Unionist	1,096
David SMITH	Scottish Labour Party	175
Pauline STEWART	Scottish Green Party	177
	Total	4,541

Candidate John GREENWELL Elected with 1,592 votes, being in excess of the quota of 1,136

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John GREENWELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GREENWELL	0	0.00000	0.00000
Transfer to Donald MOFFAT	74	0.28643	21.19582
Transfer to Frances RENTON	131	0.28643	37.52233
Transfer to Mark ROWLEY	1,181	0.28643	338.27383
Transfer to David SMITH	19	0.28643	5.44217
Transfer to Pauline STEWART	14	0.28643	4.01002
Value of non-transferable ballot papers			49.55583
	Total		456.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Mark ROWLEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GREENWELL	0	0.00000	0.00000
Transfer to Donald MOFFAT	35	0.05956	2.08460
Transfer to Donald MOFFAT	48	0.20796	9.98208
Transfer to Frances RENTON	334	0.20796	69.45864
Transfer to Frances RENTON	319	0.05956	18.99964
Transfer to Mark ROWLEY	0	0.00000	0.00000
Transfer to David SMITH	91	0.05956	5.41996
Transfer to David SMITH	67	0.20796	13.93332
Transfer to Pauline STEWART	78	0.20796	16.22088
Transfer to Pauline STEWART	63	0.05956	3.75228
Value of non-transferable ballot papers			158.42243

Total

298.27383

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of David SMITH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GREENWELL	0	0.00000	0.00000
Transfer to Donald MOFFAT	1	0.05956	0.05956
Transfer to Donald MOFFAT	2	0.20796	0.41592
Transfer to Donald MOFFAT	4	0.28643	1.14572
Transfer to Donald MOFFAT	26	1.00000	26.00000
Transfer to Frances RENTON	56	1.00000	56.00000
Transfer to Frances RENTON	7	0.28643	2.00501
Transfer to Frances RENTON	17	0.20796	3.53532
Transfer to Frances RENTON	35	0.05956	2.08460
Transfer to Mark ROWLEY	0	0.00000	0.00000
Transfer to Pauline STEWART	12	0.05956	0.71472
Transfer to Pauline STEWART	9	0.20796	1.87164
Transfer to Pauline STEWART	5	0.28643	1.43215
Transfer to Pauline STEWART	44	1.00000	44.00000
Value of non-transferable ballot papers			60.53081
	Total		199.79545

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Pauline STEWART

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GREENWELL	0	0.00000	0.00000
Transfer to Donald MOFFAT	4	0.05956	0.23824
Transfer to Donald MOFFAT	6	0.20796	1.24776
Transfer to Donald MOFFAT	1	0.28643	0.28643
Transfer to Donald MOFFAT	100	1.00000	100.00000
Transfer to Frances RENTON	77	1.00000	77.00000
Transfer to Frances RENTON	9	0.28643	2.57787
Transfer to Frances RENTON	30	0.20796	6.23880
Transfer to Frances RENTON	30	0.05956	1.78680
Transfer to Mark ROWLEY	0	0.00000	0.00000
Transfer to David SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			59.62579

Total

249.00169

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Frances RENTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GREENWELL	0	0.00000	0.00000
Transfer to Donald MOFFAT	118	0.05956	7.02808
Transfer to Donald MOFFAT	103	0.20796	21.41988
Transfer to Donald MOFFAT	51	0.28643	14.60793
Transfer to Donald MOFFAT	268	1.00000	268.00000
Transfer to Mark ROWLEY	0	0.00000	0.00000
Transfer to David SMITH	0	0.00000	0.00000
Transfer to Pauline STEWART	0	0.00000	0.00000
Value of non-transferable ballot papers			505.15312
	Total		816.20901